ChemicalBook

2
MEetzdd (| ZAIES =4 2H-IHE =2

oFX

—

GIOIE AlE MSDS/SDS

]
=

END-CAPPED HOMOPOL....

HE &M:2023-12-23 HE HS:1

ot H29Y CEINERETZ 2 I ZAEL 24 LE-XHE S22 =8H(FLUORINE END-CAPPED
HOMOPOL...
S L=SEEAE ST L SNINABH=ES
2 285 0t AR dE8 HLE,IEEE=DE 8
AEGHAl &= 240l ESLICH ot & it
S| AHID
3| A : Chemicalbook
=4 SI3AHE P AX100t I &2H1ES
PSk=I) 1 400-158-6606
= o =
2. Rk - 2B
SN2 B2F
=S

LU XEXE2FE E8stENHEXN &5
A B0 e
s

=

0
oar
0z

Chemical Book

= &t &l (FLUORINE


https://www.chemicalbook.com/ProductIndex_KR.aspx

aL

n0
OF
o0
ok
KO

.:.
(]

ol
IH
X0
X0

dl(FLUORINE END-CAPPED

s

S
=

S22

&l
=

3o
R
]

HOMOPOL...

00

~

80

o

= = = =T = =T =) 1,4~ = =2 ,E-U—'
ZA(SAELESRIZ(ECER2ZMHE)-1,2-01EC L)), 0t

60164-51-4

k=3

CAs &

S =E(% 100%

10
0]
R
KA

0l0

o
3

Ul

JH

ol
3
i
RD

g

=

= HMJi6tl] A2lotAlL

b

g
=2

2 A

OUAI2

HAIE &0l 2 A2 S 280

o
#

L]

2 FIANL

FAIR

1o
M1
[0

i

<J
OF
R0
U
00

o
10f

ol
ar

SHOIXl DAl 2

o
AN

o
o

o2 0t

o
=

FAI2

o A0l &= AFEOIA

[[e)

18 #

[
K1
n

ol

=
KIr

O J1EH 2T ALSl =2 AbEE

=
S

=

1l
10

|_

FXHAL CH X

o3|

F

oll
Hr

Chemical Book



0
p——
o

0k
RO
ur
J

0

I+
Rl
O
or

o1

PN

(e}

A
A
e

Mg

shet 42
gt
=

pS|
(=]

of

o
XS0 215 SI1A2

3

ol <

[ez]
=

t

, 8

t3

1

ES

Al IS4, =4 JtAE
|ZotXl ECHH

[e:]
=
3
=]
2|

00
<+
il

Ok

ol
30

ol

Ll
JF

0o

<k
ioll
ol
ol
<0

|22t =0l 2t

=

Hir
RD

FAI2

¢}

(G PADARES

=

=

FIAL

=

=

ol Chel
FAI2

o)

HER

=3
-

[0l DSO0l QAL 30 HAS AL JAl SeILIAIL
[0

X

'.

ol =2

Iot&
FAI2

(il

(=}

HIl &

X
=
=

COPNETR=S]
50t
2 o
55

3
FE0I M HIUMA SHLAIL

CtH
of
3
2

FXI &
SHIH AL &
FRH AL
FRH AL
=

=l

3

o

5
3
3

g§3

CESS UXHU Z20CHLIX OHAI2

6. == At Al OH

It oAl

o
2]
EH
EH
>

BIIE FEXNGELZRH SIIAL

=
FAI2

o

il

10
KO0
=
oK
il
RE

Chemical Book



SHAI2

ol =2

AN A2

o]

E=BY

10+

o
s

SHAI2

o0l &

FAI2

¢}

2200 F2

TI
10
KO
>3
[
KJ
oJ

SHAI2

ol =2

o
Iy

oJ

oK

10
il
H

ulo
KK
Ll
H

&l
iior

20
KH
m
Ll
H
aT
Rl
O
or
ol

—_

2URE

0o
3

4

K
o
H
Rr
ol

00
&3
n

n
B
&r
iior
H0
ol
(]
&M

ot2 S XIGHAI2

JIE 0l

RO
Mo

o
iy

ol

1of
H

L]
of

ur
Rr
ol

= JIM/YH 2 2cl3t
o U3y

M/ =

LEL

Jl8

o
TT

_J
L]
]
ou

2
=

t

pN|
=

180

&l

of

M

R0
ol
H

0

Ol t=2 L2391 4Lt JIE

—
[

o
o

m
Klo

Ok

d 25

bx

Jb. 212

Chemical Book



)

=

=

A2

=

OH

B
=

ok

L. &M

[l
53
i

0l0

<
bl

i

ct. pH

0o
&3
n

RO
Ju

RO
Ju
A

0l0

<
bl

1T

oF
10
R0
I
Al
=)
RO
J
A

_J
_x._

00
&3
ny

Ab.Q13HE

0l0

<
bl

n

0o
&3
Ll

A, J1A)

X

E¥ ]

o
bl

At

0o
3

4

o)
1o
o)
20
of
oF
0
o
Hr
)
B

o1

oJ

=3

0lo
&3
Il

It. 571

0o
3

n

U1
o

0o

0o
&3
Il

LH
ol

_J
Kio
=

FoHIS

1.86~1.91g/cm3 (at 24C)

>1

= b Hl = (Kow)

o

ol
]

/

H.n-=

Chemical Book

2.09 (2XX)



W
ol

no

i

[an)

0o
3

4

.S
[= ==

al.

0o
&3
4

=

I

0o
3

n

0
0l0

J

oK
X0
K0

—_

oJ

0
1o

ol
010
Bl

=
o

Ok
ok
X0
RO
oJ
Rr
ol

o1

0o

IHE Al 810t

AL =4, S4 Ot

3

0o

X
il

=
[}

OF
oL

o
ol

Kl
0

0o

<+
iofl
falll
i
ﬂ
Klo
J
5

ol
Ok
ol_e

Kl

i

i
i

K
x
S

I+
all

R
il

HOF &

0

Ct. 1l

R
0H
s
0k
Ju

X0

no

i

0o
3

n

iy
RO
ol

£l

R0

L]
H

ol

HItsd0l =

RO
X0
1o
Ok

A0

Lt 2

0o
3

n

Chemical Book



ol
oD

0lo

X0
nr

J
=
X0
<
IF
il

=

o
33
i

0o
3

4

X0

ol

=

L]
ol

0o
3

n

X0

ol
=1
il

1=

0o
3

n

3D
i
iy
Kl
oJ

<

0l
53
n

1Al

I+
o
H
o
ﬂ

00
&3
n

IARC

0l
53
i

OSHA

0l
&3
n

ACGIH

A4 (Fluorides)

NTP

oo
&3
N

EU CLP

o
&3
4

X0
[

fil
H
T
20

ol
3%
4

X0
_.|=ﬁ

<
20

o
33
4

™
H
[

X0
ur

-~

K0
Rr
=
RO
ur

oo
33
n

Rr
=3
R0
ur

0o
3

4

X0
=]

ol
L]

0o
3

n

30
30
X0

=
o

(U3

[l
53
n

X0
U

20

Chemical Book



ol
&3
4

0l0

4
TA

Uk
Ki

0
s
IH
ok
0
Ik
KJ

X0

Kl

)

2.09 log Kow (Z=& X

%0
B
I

X0
R
Ho
Ul

X0
LU
Ho

X0
=l
il
20

%0
o

.

o0

oo
&3
4

00
3

n

=7
=\

J

13. FEFE L DVE

Jb HDOIgH

= A= 22l HE AL 01

2| st
==

otel AJI= M

154IEIDIE Ol

ZIHXS

FAIL.

[[e)

st

Lt HIDLAl =21 Ab

0o
3

4

J

Lo

A%

14.

(UN No.)

o
<

D

i
%0

[
K

O
0

0
0

&0
Rr
R
RO
Rr

0o
&

00

-
([}

S (= §
%‘g ==

S

Ch.2

Chemical Book



0l0
&8

00

-
([}

D
U

00

0o
(3

00

=
o

R
il
30
o0

=
o

ol
3%
4

Hi. AFS XL

K

3

20

ST Al HI

0o
38

00

=
[}

=4
Ki

-

20

=<
L]
Ok

0o
&3

00

=
[}

15. & A & &

T+ Al

5t

0o
&3

00

=
([}

0o
38
00

-
1o

Al

5t

clgol 2

[Nl
Kl
oJ
o
160
oF

-

.I

3

0o
£

00

=
o

7 Al

HII= 22l Hol 2 st

ct.

0o
[

00

=
[s]

Ol 21 &t Xl

1]
fir

2l

ok

O J1EF =LK

=UAA

0o
£

00

-
([}

JIEE=U A

0l0
&8

00

-
([}

=AM

=222 (0OSHA 1 &)

]
&3

00

-
o

0l=22| 8 2 (CERCLA 1)

0o
&3

00

=
o

Ol=2cl & 2 (EPCRA302 71 &)

0o
3
0

=3
o

0|2 22| = 2 (EPCRA 304 7 &)

0o
38
0

=3
1o

0|22 8 2 (EPCRA313 7 &)

0o
33

00

=
[s]

Chemical Book



(|
0

ol
6D

RO

n
Al

0o
38

00

-
[}

R
]
or
0
]
o
ur
<l

H
RO
o)
]
mr

0o
38

00

-
([}

R
]
x
%0
of
il

w
Ll
iy
RO
)
[l
mr

0o
38

00

-
o

0o
a8

00

=
1o

i
100
oF
Iy
RO
Uk
]

00

ey

00

=3
[}

]
RJ
Iy
R0
Uk
il

00
38

00

=3
[}

St
S

16. _1 12 & 0A}

EPS

D RpNI=3|

3l
B
Kr
K
e

2023-12-23

ol
RO

ko
"

2023-12-23

ch. JlE

[l
53
n

A 0fl CHat

S UICHOl MSD
F

= HELX &
= = SDS2| Hg
SLICH

W s
053
7 70 <0
Fia H0 75

REg

Sind

o7 Ho 00

HEE= Al
FE XHOII I 2 Kl
2 MSDS At

—
[

&=t o)
Bl =Rm

10

Chemical Book



